
min 1040mm
max 1560mm

60kg(132lbs)

MANUAL TV CARTS
XTR-FS5050 / XTR-FS5060 / XTR-FS5070

INSTALLATION MANUAL





2

M5x14 (x4)
M-A

M6x14 (x4)
M-B

M6x30 (x4)
M-C

M8x30 (x4)
M-D

(x4)
M-F

(x8)
M-G

(x8)
M-H

M8x50 (x4)
M-E

P-17 (x2)

4mm (x1)
H

6mm (x1)
I

14mm (x1)
L

10mm (x1)
KJ (x10)

A (x4) C (x12)B (x4) D (x4) E (x4) F (x2)

G (x2)

P-1 (x1) P-2 (x1)

P-3 (x1)

P-14 (x2)P-13 (x1) P-16 (x1)P-15 (x2)

P-5 (x1)

P-10 (x1) P-11 (x2)

P-4 (x1)

P-12(x1)

P-8 (x2)P-7 (x1)

P-6 (x1)

P-9 (x2)

P-18 (x1) P-19 (x2)

  WARNING Read this before you start.
Secure the TV stand's tilt system properly before placing the TV. This is indicated in the 
manual and prevents unwanted tilting of the TV and TV stand.



2

3

P-14

P-14

P-15

P-15

P-3

L

I

A
P-1

P-3



3

4

4

P-4

D

H

G

I

P-16
P-4



P-2

5

6

5

P-18

E

P-11

H



7

6

P-5

P-5

H

B

+5°

-5°
K

K

If the TV cannot hold still, 
please kindly tighten these 
3 screws.

Secure the TV stand's tilt system



8a

8b

7

P-9

M-G
M-F

M-C
M-D

M-H
M-F

M-E

M-H
M-G

M-F

M-E

M-H
M-G M-F

M-C
M-D

M-H
M-F

M-C
M-D

P-9

M-H

M-G
M-F

M-E

M-F

M-A
M-B

M-G



9

10

8

C

P-17

H

H

P-8

C



9

11

12

FP-6

H

P-7



13

10

14

P-12

H

C

H

P-10

P-13

C

Note: 
Please install the tray after the TV is raised or lowered 
to the appropriate height to avoid the tray being too 
close to the TV to a�ect user experience.



15

11

P-19

Note: 
Please install the upper knob �rst, 
then install the lower knob.There 
are 9 levels of height adjustment, 
each level is 65mm high.



16

12

J



13

17

+5°

-5°

+5°

-5°
K

K

If the TV cannot hold still, 
please kindly tighten these 
3 screws.

WARNING
Please do NOT touch the tray
 while lowering down the TV.


